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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 3005 5.6 1.1 6 93.5 100
2 3006 5.2 1.7 8 64.7 100
3 3005 6.2 2.1 10 61.7 100
4 2997 9.9 4 17 58.3 99.7
5 2987 5.5 2.5 10 55.4 99.4
6 2994 6.9 2.4 10 68.6 99.6
7 113 11.6 9.3 40 29 3.8
8 43 17.2 8 40 42.9 1.4
9 2816 18.9 9.2 40 47.2 93.7

10 4 4.5 3.9 40 11.3 0.1
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Line
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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2. Look at the item below and answer the questions that follow.

© WJEC CBAC Ltd.

[Adapted from a report issued by the Joseph Rowntree Foundation (July 2012)]

	 (c)	 Explain with examples, the meaning of relative poverty.	 [3]

	 (d)	 Identify and explain one reason why it is important that researchers find out about 
changing standards of living in the UK.	 [3]

Each year the Joseph Rowntree Foundation surveys public opinion to find out what is seen 
as necessary for a “socially acceptable standard of living”. What is seen as necessary 
changes over time. For example, by 2012 internet access was seen as essential.
In 2012, a family with two children needed to earn £36,800 to enjoy a socially acceptable 
standard of living. Prices have increased more than average earnings in recent years, 
therefore pensioners and families with children have less to spend on things like eating 
out and buying presents.





Sticky Note
Good ideas but lacked sophisticated  language,possibly mentioning government or benefits could have helped.

Sticky Note
Good definition but lacked development for 3 marks.





Sticky Note
Basic understanding but needed more development.

Sticky Note
Good example and explanation but lacked development for full marks.





Sticky Note
2 d) A question which many found difficult to score full marks. This answer linked it to the ideas of the previous question about relative poverty gaining credit for the idea that the government needed to understand how subjective perceptions of poverty are changing.

Sticky Note
2 c) An answer showing a good understanding of the term through the use of phrase compared to others around you. The clarification of being able to afford the basic necessities with examples of internet access and designer clothes lifted the answer. Although not asked for we also liked the comparison with absolute poverty which showed their understanding well.
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3. Look at the item below and answer the questions that follow.

Source: Disability Rights Commission

Disability discrimination laws mean that employers must make “reasonable adjustments” to 
ensure someone with a disability can compete for a job: these include adjustments such as 
home-working or flexible hours.
Recent changes have banned disability discrimination in other areas of life, such as access to 
shops and services.

	 (c)	 Using an example, explain the meaning of the term social inclusion.	 [2]
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	 (d)	 Explain the meaning of the term life chances.	 [2]

	

	

	

	

	

	 (e)	 Identify and explain one sociological reason why disabled people may be less  
discriminated against than in the past.	 [3]
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Sticky Note
A common mistake on this question was to explain what social exclusion is. This answer did just that.



Sticky Note
Basic and not well ordered but deserving of a single mark.

Sticky Note
A basic explanation but with no depth for 2 marks.







Sticky Note
This gained benefit of the doubt for 2 marks. Stronger answers would have explained how social inclusion works with an example. Some used the example of reasonable adjustments from the previous answer.



Sticky Note
Good answer with good explanations but second part is less clear so did not secure three marks.

Sticky Note
Higher education secures the second mark.







Sticky Note
3 c) Very good example.



Sticky Note
3 e) Full explanation with the naming of the Equality Act.

Sticky Note
3 d) Basic definition  with a good range of examples and further explanation to claim both marks.
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4.	 Look at the following information and answer the questions that follow.

	 Source: Office for National Statistics

	 (a)	 Explain, with an example, what is meant by a hate crime.	 [2]

	

	

	

	

	

	 (b)	 Explain why sociologists complete a pilot study.	 [2]

	

	

	

	

	

Hate Crime

A hate crime is one committed against a person or property on the grounds of their 
personal characteristics, for example religion, ethnicity, disability or sexual orientation.

In a pilot study carried out by the Office for National Statistics, most respondents thought 
they knew what a ‘hate crime’ was and were able to explain it in their own words.

However, there were some differences in how the term was understood, in particular 
whether ‘hate crime’ also included bullying or not. This meant that questions had to be 
changed for the final study.
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	 (c)	 Identify and explain two sociological reasons why some people may hold racist views.
	 [4]

		R  eason 1

	

	

	

	

	

	

		  Reason 2

	

	

	

	

	

	

	 (d)	 (i)	 Identify a suitable method which a researcher could use to investigate attitudes 
towards hate crime.	 [1]

	

	 (ii)	 Explain why the method chosen is suitable for the research.	 [2]
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	 (iii)	 Identify and explain two difficulties the researcher might experience using the 
method chosen.	 [6]

		  Problem 1

	

	

	

	

	

	

		  Problem 2
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Sticky Note
No real explanation given here so zero marks despite mention of relevant terminology. They could have gained credit if they had explained how a pilot study might increase validity or reliability.

Sticky Note
Definition accepted for1 mark but the example is not necessarily of a hate crime.



Sticky Note
This answer gains no credit as the method chosen observation is inappropriate. A more sophisticated response may have shown how observation could be a possibility.

Sticky Note
Inappropriate choice of method.

Sticky Note
Relevant terminology but not clearly explained or linked to the question.

Sticky Note
Valid point which could have gained two marks with a little more development.



Sticky Note
Benefit of doubt given to the problems which are explained in a basic fashion. One mark awarded for each.







Sticky Note
Validity secures the second mark.

Sticky Note
Two sociological explanations supported by explanation.



Sticky Note
Validity used with a valid reason for the lack of.

Sticky Note
Logical explanation of the consequences of less interviews gained two marks.Clearer/fuller explanation needed for three marks.










Sticky Note
4 b) Very thorough with consideration of scale, confusing questions,validity,time and money.

Sticky Note
4 a) Goes on to add example well. Many answers did not give an example but relied on the text which was not an example of hate crime but of the groups who may suffer from hate crime.



Sticky Note
Range of ideas.

Sticky Note
4 c) Two sociological explanations with good examples.



Sticky Note
Validity used again but with different reason so still gains full marks.

Sticky Note
Validity accurately used with a reason.
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Sociology - Unit 2 


Compulsory Core 


Question Answer Marks A  O 


2c Unacceptable answers will not explain relative poverty. 


One mark is awarded to basic answers that may identify an issue 
linked to relative poverty. 


Two marks for basic explanation and an example. 


For three marks, there will be development with appropriate 
examples and a full understanding of relative poverty possibly 
comparing to absolute, subjective or environmental poverty. 


3 3 


2d One mark is available for a basic response perhaps suggesting that it 
is important to understand how people live. 


Two marks are available for answers that show some understanding 
or development, such as an explanation of what the information may 
be used for e.g. to decide how the government can help people. 
Three marks are available for a more sophisticated response e.g. to 
help decide government policy to help the poor or to reduce poverty, 
reduce social inequality. 


3 2 
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Sociology - Unit 2 


Compulsory Core 


Question Answer Marks A  O 


3c One mark is available for an acceptable example such as being able 
to feel part of society by owning property, having a job, being socially 
accepted, having money to travel and take part in leisure 
opportunities. 


Two marks are available for more development and/or use of 
specialist language e.g. deprivation, isolation, equal opportunities. 


2 3 


3d A basic response will offer something suggesting the chances of 
good or bad things happening to you. 


A detailed response will offer a degree of sophistication or 
development showing understanding of different example of life 
chances. 


2 3 


3e Unacceptable answers will offer responses that do not address the 
issue or simply offer answers that are common sense. 


One mark is awarded to basic answers that may use the source to 
note changes in the law. 


Two marks will be awarded to fuller answers that may refer to 
examples, such as Paralympics coverage, characters on soap operas 
etc. 


Three marks are awarded to answer that use sociological language 
and attempt to explain why discrimination has decreased arguably. 
E.g. changes in law, socialisation, media. 


3 2 
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Question Answer Marks A  O 


4a One mark for a simple definition of the term lifted from the source. 
 


A further mark is available for an example. 


2 3 


4b One mark for a simple definition of the term. 
 


A further mark is available for development or an appropriate 
example e.g. to make sure people understand the questions, to make 
sure it finds out what it is looking for. 


2 1 


4c There are two marks available for each reason identified..  This is an 
open question and candidates may offer a variety of plausible 
reasons.  Any answers that show insight will be credited regardless of 
the reason offered. 
 


Unacceptable answers will offer responses that do not address the 
issue or simply offer answers that are common sense. 
 


One mark is awarded to basic answers that may address the 
question but will be underdeveloped or rely on basic knowledge 
and/or accurate use of specialist language.  ‘People are racist or 
prejudiced, poorly educated. 
 


Two marks will be awarded to more detailed answers.  Accept 
answers that apply knowledge. 
 


‘People commit hate crimes because the Media have socialisted 
them not to like certain groups or they have had little experience so 
mistrust them. 
 


The same criteria should be applied to the second reasons.  E.g. 
another reasons people commit hate crimes is because they are 
prejudice against them due to primary socialisation within the family. 


4 3 


4d(i) Any acceptable sociological research method.  E.g. unstructured 
interviews, Questionnaires.  Use of secondary data such as analysis 
of official statistics. 


1 2 


4d(ii) One mark is awarded to basic answers that give a reasons for the 
suitability of the method. 
 


Two marks for some development of this.   Credit for in depth 
reasons and/or use of specialist language. 


2 2 


4d(iii) There are three marks available for each problem identified.  This is 
an open question and candidates may offer a variety of plausible 
problems.  Any answers that show insight will be credited regardless 
of the problem offered. 
 


Unacceptable answers will offer responses that do not address the 
issue or simply offer answers that are common sense. 
 


Understanding of a key term is desirable for full marks to be awarded 
for either of the two sections.  Hints are provided but not restrictive, 
for example, problems may be practical – this is not specified in the 
text but can be rewarded if discussed. 
 


One mark is awarded to basic answers that may address the 
question but will be underdeveloped or rely on basic knowledge of the 
method chosen. ‘People may not want to take part’. 
 


Two marks will be awarded to more detailed answers. Accept 
answers that apply knowledge. 
 


‘People may tell lies because they want to create a good impression.’ 
‘People may not want to take part because they have been a victim of 
hate crime and it upsets them.  This is an ethical issue and they 
should have the right to refuse.  They may cause psychological harm 
if they take part. 
 


Three marks will be awarded to very detailed answers which show 
some evidence of sociological knowledge or language.  Credit 
answers that apply knowledge, or refer to the context of the question. 
 


'People may tell lies about hate crimes they have committed or be 
willing to reveal small crimes but not big ones and this makes the 
research lack validity. 


6 2 
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